

ON MULTIPLICATIVE (GENERALIZED)-DERIVATIONS IN SEMIPRIME RINGS

Deepak Kumar¹, Gurninder S. Sandhu^{2§}

^{1,2}Department of Mathematics

Punjabi University

Patiala, 147002, INDIA

Abstract: Let R be a ring. A map $F : R \rightarrow R$ (not necessarily additive) is called a multiplicative (generalized)-derivation of R if $F(xy) = F(x)y + xf(y)$ for all $x, y \in R$, where $f : R \rightarrow R$ is any map (not necessarily a derivation nor additive). The main purpose of this paper is to study the following situations (i) $F[x, y] \pm xy = 0$ (ii) $F[x, y] \pm yx = 0$ (iii) $F(x \circ y) \pm xy = 0$ (iv) $F(x \circ y) \pm yx = 0$ (v) $f(x)F(y) \pm xy = 0$ (vi) $f(x)F(y) \pm yx = 0$ (vii) $[F(x), y] \pm x \circ G(y) = 0$ (viii) $F(x) \circ y \pm x \circ G(y) = 0$, for all x, y in some appropriate subsets of R .

AMS Subject Classification: 16W25, 16R50, 16N60

Key Words: semiprime ring, left ideal, two sided ideal, derivation, multiplicative derivation, multiplicative (generalized)-derivation

1. Introduction

Let R denote an associative ring with center $Z(R)$. For any $x, y \in R$, we write for commutator $[x, y] = xy - yx$ and the anti-commutator $x \circ y = xy + yx$. A ring R is called prime ring if for any $a, b \in R$, $aRb = (0)$ implies that either $a = 0$ or $b = 0$ and is called semiprime if $aRa = (0)$ implies that $a = 0$. Let S be a non-empty subset of R . A map $f : S \rightarrow R$ is called a centralizing (or commuting) map on S if $[f(x), x] \in Z(R)$ (or $[f(x), x] = 0$) for all $x \in S$. An additive map $d : R \rightarrow R$ is called a derivation of R if $d(xy) = d(x)y + xd(y)$ holds for all $x, y \in R$. An additive map $F : R \rightarrow R$ associated with a derivation $d : R \rightarrow R$

Received: October 15, 2015

Published: February 4, 2016

© 2016 Academic Publications, Ltd.

url: www.acadpubl.eu

§Correspondence author

is called a generalized derivation of R if $F(xy) = F(x)y + xd(y)$ holds for all $x, y \in R$. If $d = 0$ then we have $F(xy) = F(x)y$, which is called a left multiplier mapping of R . In 1991, Brešar [4] introduced generalized derivation and Havala [11] gave an algebraic study of generalized derivations of prime rings. Clearly, every derivation is a generalized derivation of R . Thus generalized derivation covers both the concepts of left multiples and the concept of derivation.

The idea of multiplicative derivation was introduced in 1991 by Daif [7] as follows: A map $d : R \rightarrow R$ (not necessarily additive) is called a multiplicative derivation of R if $d(xy) = d(x)y + xd(y)$ for all $x, y \in R$. The complete description of these mappings was provided by Goldman and Šemrl [10]. The notion of derivation was extended to multiplicative generalized derivation by Daif and Tammam-El-Sayiad [6] as follows: A map $F : R \rightarrow R$ is said to be a multiplicative generalized derivation if there exist a derivation $d : R \rightarrow R$ such that $F(xy) = F(x)y + xd(y)$ for all $x, y \in R$. Further, Dhara and Ali [8] generalize this definition of multiplicative generalized derivation by considering d as any map from R to R . They defined in [8] that a map $F : R \rightarrow R$ (not necessarily additive) is called multiplicative (generalized)-derivation if $F(xy) = F(x)y + xf(y)$ holds for all $x, y \in R$, where $f : R \rightarrow R$ is any map (not necessarily a derivation nor additive). It is obvious that every generalized derivation is multiplicative (generalized)-derivation on R . However, the converse need not be true in general (viz. [8]).

Daif and Bell [5] proved that if a semiprime ring R admits a derivation d such that $d[x, y] \pm [x, y] = 0$ for all x, y in a non-zero ideal I of R , then R is commutative. Hongan [12] generalized these results by taking the same situations in the center of the ring R . Asma Ali et al. [2] investigated the commutativity of a prime ring admitting a generalized derivation satisfying any one of the following identities (i) $F([x, y]) \pm [x, y] \in Z(R)$ (ii) $F(x \circ y) \pm (x \circ y) \in Z(R)$ for all x, y in some appropriate subset of R . Recently, Ali et al. [3] proceed it further by taking some more identities admitting multiplicative (generalized)-derivation in prime and semiprime rings. For more references of the related work, the reader can see (Asma Ali et al. [1], Dhara and Ali [8], Khan [13], Ali et al. [3], Dhara et al. [9]). Inspired by the work of Ali et al. [3] and Khan [13], we study similar situations admitting multiplicative (generalized)-derivation on a semiprime ring.

We shall frequently use the following basic commutator and anti-commutator identities in the proofs of our results: $[xy, z] = x[y, z] + [x, z]y$, $[x, yz] = y[x, z] + [x, y]z$, $x \circ yz = (x \circ y)z - y[x, z] = y(x \circ z) + [x, y]z$, $xy \circ z = x(y \circ z) - [x, z]y = (x \circ z)y + x[y, z]$ for all $x, y, z \in R$.

2. Main Results

Theorem 1. *Let R be a semiprime ring and I a non zero left ideal of R . If $F : R \rightarrow R$ is a multiplicative (generalized)-derivation associated with a map $f : R \rightarrow R$ such that $F[x, y] \pm xy = 0$ for all $x, y \in I$, then $I[x, f(x)] = (0)$ for all $x \in I$.*

Proof. Assume that

$$F[x, y] \pm xy = 0 \quad (1)$$

for all $x, y \in I$. Replace y by yx and using (1), we obtain

$$[x, y]f(x) = 0 \quad (2)$$

for all $x, y \in I$. Substituting $f(x)y$ for y and using (2), we get

$$[x, f(x)]yf(x) = 0 \quad (3)$$

for all $x, y \in I$. Replace y by yx in (3), we obtain

$$[x, f(x)]yxf(x) = 0 \quad (4)$$

for all $x, y \in I$. Right multiply (3) by x and subtract it from (4), we get $[x, f(x)]y[x, f(x)] = 0$ for all $x, y \in I$. On replacing y by ry , we obtain $[x, f(x)]ry[x, f(x)] = 0$ for all $x, y \in I, r \in R$ and hence, $y[x, f(x)]Ry[x, f(x)] = (0)$ for all $x, y \in I$. The semiprimeness of R yields that, $y[x, f(x)] = 0$ for all $x, y \in I$. Therefore, $I[x, f(x)] = (0)$ for all $x \in I$. \square

Theorem 2. *Let R be a semiprime ring and I a non zero left ideal of R . If $F : R \rightarrow R$ is a multiplicative (generalized)-derivation associated with a map $f : R \rightarrow R$ such that $F[x, y] \pm yx = 0$ for all $x, y \in I$, then $I[x, f(x)] = (0)$ for all $x \in I$.*

Proof. Assume that

$$F[x, y] \pm yx = 0 \quad (5)$$

for all $x, y \in I$. Replace y by yx and using (5), we obtain $[x, y]f(x) = 0$ for all $x, y \in I$. Further, proceed as Theorem 1, we obtain $I[x, f(x)] = (0)$ for all $x \in I$. \square

Theorem 3. *Let R be a semiprime ring and I a non zero left ideal of R . If $F : R \rightarrow R$ is a multiplicative (generalized)-derivation associated with a map $f : R \rightarrow R$ such that $F(x \circ y) \pm xy = 0$ for all $x, y \in I$, then $I[x, f(x)] = (0)$ for all $x \in I$.*

Proof. We assume that,

$$F(x \circ y) \pm xy = 0 \quad (6)$$

for all $x, y \in I$. Replace y by yx and using (6), we get

$$(x \circ y)f(x) = 0 \quad (7)$$

for all $x, y \in I$. Substituting $f(x)y$ for y and using (7), we obtain

$$[x, f(x)]yf(x) = 0 \quad (8)$$

for all $x, y \in I$. Right multiply (8) by x , we get

$$[x, f(x)]yf(x)x = 0 \quad (9)$$

for all $x, y \in I$. Replace y by yx in (8), we obtain

$$[x, f(x)]yxf(x) = 0 \quad (10)$$

for all $x, y \in I$. Subtract (9) from (10), we get $[x, f(x)]y[x, f(x)] = 0$ for all $x, y \in I$. On replacing y by ry , we obtain $[x, f(x)]ry[x, f(x)] = 0$ for all $x, y \in I, r \in R$ and hence, $y[x, f(x)]Ry[x, f(x)] = (0)$ for all $x, y \in I$. Now, Semiprimeness of R forces to $y[x, f(x)] = 0$ for all $x, y \in I$. $I[x, f(x)] = (0)$ for all $x \in I$. \square

Theorem 4. *Let R be a semiprime ring and I a non zero left ideal of R . If $F : R \rightarrow R$ is a multiplicative (generalized)-derivation associated with a map $f : R \rightarrow R$ such that $F(x \circ y) \pm yx = 0$ for all $x, y \in I$, then $I[x, f(x)] = (0)$ for all $x \in I$.*

Proof. We assume that,

$$F(x \circ y) \pm yx = 0 \quad (11)$$

for all $x, y \in I$. Replace y by yx and using (11), we get

$$(x \circ y)f(x) = 0 \quad (12)$$

for all $x, y \in I$. Further, proceed as Theorem 3, we obtain $I[x, f(x)] = (0)$, for all $x \in I$. \square

Corollary 5. *Let R be a semiprime ring admitting a multiplicative (generalized)-derivation $F : R \rightarrow R$ associated with a map $f : R \rightarrow R$. If R satisfies any one of the following identities*

1. $F[x, y] \pm xy = 0$
2. $F[x, y] \pm yx = 0$
3. $F(x \circ y) \pm xy = 0$
4. $F(x \circ y) \pm yx = 0$

for all $x, y \in R$, then the map f is a commuting map on R .

Theorem 6. Let R be a semiprime ring and I a non zero left ideal of R . If $F : R \rightarrow R$ is a multiplicative (generalized)-derivation associated with a map $f : R \rightarrow R$ such that $f(x)F(y) \pm xy = 0$ for all $x, y \in I$, then $I[x, f(x)]_2 = (0)$ for all $x \in I$.

Proof. We assume that

$$f(x)F(y) \pm xy = 0 \tag{13}$$

for all $x, y \in I$. Replace y by yx and using (13) we get

$$f(x)yf(x) = 0 \tag{14}$$

for all $x, y \in I$. Substituting $[x, f(x)]y$ for y in (14), we get

$$f(x)[x, f(x)]yf(x) = 0 \tag{15}$$

for all $x, y \in I$. Left multiply (10) by $[x, f(x)]$ and subtract (15) from it, we obtain

$$[[x, f(x)], f(x)]yf(x) = 0 \tag{16}$$

for all $x, y \in I$. Again replacing y by yx in (16), we get

$$[[x, f(x)], f(x)]yxf(x) = 0 \tag{17}$$

for all $x, y \in I$. Right multiply (16) by x and subtract it from (17), we get

$$[[x, f(x)], f(x)]y[x, f(x)] = 0 \tag{18}$$

for all $x, y \in I$. Right multiply (16) by $[x, f(x)]$ we get

$$[[x, f(x)], f(x)]yf(x)[x, f(x)] = 0 \tag{19}$$

for all $x, y \in I$. Right multiply (18) by $f(x)$ we get

$$[[f(x), x], f(x)]y[x, f(x)]f(x) = 0 \tag{20}$$

for all $x, y \in I$. Subtract (19) from (20) we get

$[[x, f(x)], f(x)]y[[x, f(x)], f(x)] = 0$ for all $x, y \in I$. On replacing y by ry , we obtain $[[x, f(x)], f(x)]ry[[x, f(x)], f(x)] = 0$ for all $x, y \in I, r \in R$ and hence, $y[[x, f(x)], f(x)]Ry[[x, f(x)], f(x)] = (0)$ for all $x, y \in I$. The semiprimeness of R implies $y[[x, f(x)], f(x)] = 0$ for all $x, y \in I$. That is, $I[x, f(x)]_2 = (0)$ for all $x \in I$. \square

Theorem 7. *Let R be a semiprime ring and I a non zero left ideal of R . If $F : R \rightarrow R$ is a multiplicative (generalized)-derivation associated with a map $f : R \rightarrow R$ such that $f(x)F(y) \pm yx = 0$ for all $x, y \in I$, then $I[x, f(x)]_2 = 0$ for all $x \in I$.*

Proof. Assume that,

$$f(x)F(y) \pm yx = 0 \quad (21)$$

for all $x, y \in I$. Replace y by yx and using (21), we get $f(x)yf(x) = 0$ for all $x, y \in I$. Further, the proof follows from Theorem 6, after equation (14). \square

Corollary 8. *Let R be semiprime ring and I a nonzero ideal in R . If $F : R \rightarrow R$ is a multiplicative (generalized)-derivation associated with a map $f : R \rightarrow R$. If I satisfies any one of the identities $f(x)F(y) \pm xy = 0$ and $f(x)F(y) \pm yx = 0$ for all $x, y \in I$, then f is commuting on I .*

Proof. By equation (14) in theorem 7, we have $f(x)yf(x) = 0$ for all $x, y \in I$. Therefore, $[f(x), x]y[f(x), x] = 0$ for all $x, y \in I$. That is, $[f(x), x]I[f(x), x] = (0)$ for all $x, y \in I$. Since I is an ideal of a semiprime ring therefore $[f(x), x] = 0$ for all $x \in I$, thus f is commuting on I . \square

Theorem 9. *Let R be a semiprime ring and I a non zero left ideal of R . If $F, G : R \rightarrow R$ are multiplicative (generalized)-derivations associated with maps $f, g : R \rightarrow R$ respectively. If $[F(x), y] \pm x \circ G(y) = 0$ for all $x, y \in I$, then $I[x, g(x)] = (0)$ and $I[x, f(x)] = (0)$ for all $x \in I$.*

Proof. Firstly, assume that

$$[F(x), y] - x \circ G(y) = 0 \quad (22)$$

for all $x, y \in I$. Replace y by yx in (22), we get

$$y[F(x), x] + ([F(x), y] - x \circ G(y))x - x \circ yg(x) = 0 \quad (23)$$

for all $x, y \in I$. Using (22) in (23), we obtain

$$y[F(x), x] - x \circ yg(x) = 0$$

for all $x, y \in I$.

$$y[F(x), x] - (x \circ y)g(x) + y[x, g(x)] = 0 \tag{24}$$

for all $x, y \in I$. Replace y by $g(x)y$ in (24), we get

$$g(x)y[F(x), x] - (x \circ g(x)y)g(x) + g(x)y[x, g(x)] = 0$$

for all $x, y \in I$.

$$g(x)y[F(x), x] - g(x)(x \circ y)g(x) - [x, g(x)]yg(x) + g(x)y[x, g(x)] = 0 \tag{25}$$

for all $x, y \in I$. Left multiply (24) by $g(x)$ and subtract from (25), we get

$$[x, g(x)]yg(x) = 0 \tag{26}$$

for all $x, y \in I$. Replace y by yx in (26), we get

$$[x, g(x)]yxg(x) = 0 \tag{27}$$

for all $x, y \in I$. Right multiply (26) by x and subtract it from (27), we get $[x, g(x)]y[x, g(x)] = 0$ for all $x, y \in I$ implies $y[x, g(x)]Ry[x, g(x)] = (0)$ for all $x, y \in I$. Semiprimeness of R forces that $y[x, g(x)] = 0$ for all $x, y \in I$. Therefore, $I[x, g(x)] = (0)$ for all $x \in I$.

Now replacing x by xy in (22) and using the same argument as above, we conclude that $I[x, f(x)] = (0)$ for all $x \in I$. The same technique can be followed in case $[F(x), y] + x \circ G(y) = 0$ for all $x, y \in I$. This completes the proof. \square

Theorem 10. *Let R be a semiprime ring and I a non zero left ideal of R . If $F, G : R \rightarrow R$ are multiplicative (generalized)- derivations associated with maps $f, g : R \rightarrow R$ respectively. If $F(x) \circ y \pm x \circ G(y) = 0$ for all $x, y \in I$, then $I[x, g(x)] = (0)$ and $I[x, f(x)] = (0)$ for all $x \in I$.*

Proof. Firstly we assume,

$$F(x) \circ y - x \circ G(y) = 0 \tag{28}$$

for all $x, y \in I$. Replace y by yx and using (28), we obtain

$$y[x, g(x)] - y[F(x), x] - (x \circ y)g(x) = 0 \tag{29}$$

for all $x, y \in I$. Replace y by $g(x)y$ in (29), we get

$$g(x)y[x, g(x)] - g(x)y[F(x), x] - g(x)(x \circ y)g(x) - [x, g(x)]yg(x) = 0 \tag{30}$$

for all $x, y \in I$. Left multiply (29) by $g(x)$ and subtract it from (30), we obtain $[x, g(x)]yg(x) = 0$ for all $x, y \in I$. Further, the proof follows from Theorem 9, after equation (26). The same technique can be followed in case $F(x) \circ y + x \circ G(y) = 0$ for all $x, y \in I$. \square

Corollary 11. *Let R be a semiprime ring admitting a multiplicative (generalized)-derivation $F, G : R \rightarrow R$ associated with the maps $f, g : R \rightarrow R$ respectively. If R satisfies any one of the identities $[F(x), y] \pm x \circ G(y) = 0$ and $F(x) \circ G(y) \pm x \circ G(y) = 0$ for all $x, y \in R$, then f and g both are commuting maps on R .*

3. Examples

In this section we develop an example to show that the condition of semiprimeness of the ring in our results is crucial.

Example 12. Consider $R = \left\{ \begin{pmatrix} 0 & a & b \\ 0 & 0 & c \\ 0 & 0 & 0 \end{pmatrix} : a, b, c \in S \right\}$, where S is any ring. We define maps $F, f : R \rightarrow R$ by

$$F \begin{pmatrix} 0 & a & b \\ 0 & 0 & c \\ 0 & 0 & 0 \end{pmatrix} = \begin{pmatrix} 0 & 0 & ac \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix}, f \begin{pmatrix} 0 & a & b \\ 0 & 0 & c \\ 0 & 0 & 0 \end{pmatrix} = \begin{pmatrix} 0 & ac & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \text{ and } G, g : R \rightarrow R \text{ by } G \begin{pmatrix} 0 & a & b \\ 0 & 0 & c \\ 0 & 0 & 0 \end{pmatrix} = \begin{pmatrix} 0 & 0 & ab \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix},$$

$$g \begin{pmatrix} 0 & a & b \\ 0 & 0 & c \\ 0 & 0 & 0 \end{pmatrix} = \begin{pmatrix} 0 & b^2 & a^2 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix}.$$

Then it is verified that F and G are multiplicative (generalized)-derivations associated with the maps f and g respectively. It is easy to see that the identities $[F(x), y] \pm x \circ G(y) = 0$ and $F(x) \circ G(y) \pm x \circ G(y) = 0$ are satisfied for all $x, y \in R$. Here R is not semiprime ring because $\begin{pmatrix} 0 & 1 & 1 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} R \begin{pmatrix} 0 & 1 & 1 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} = (0)$. Note that f and g are not commuting maps on R . Hence, the semiprimeness in Cor.11 is crucial.

Acknowledgements

The second author acknowledge this research to "Mulana Azaad National Fellowship" granted by U.G.C.

References

- [1] A. Ali, B. Dhara, S. Khan, F. Ali, Multiplicative (generalized)-derivations and left ideals in semiprime rings, *Hecettepe J. Math. Stat.*, DOI 10.15672/HJMS.2015449680 (2015).
- [2] A. Ali, D. Kumar, P. Miyan, On generalized derivations and commutativity of prime and semiprime rings, *Hecettepe J. Math. Stat.*, **40(3)** (2011),367-374.
- [3] S. Ali, B. Dhara, N. A. Dar, A. N. Khan, On Lie ideals with multiplicative (generalized)-derivations in prime and semiprime rings, *Beitr Algebra Geom.*, **56(1)** (2015),325-337.
- [4] M. Brešar, On the distance of the composition of two derivations to the generalized derivation, *Glasgow Math. J.*, **33** (1991),89-93.
- [5] M. N. Daif, H. E. Bell, Remarks on derivations on semiprime rings, *Internat. J. Math. Math. Sci.*, **15(1)** (1992), 205-206.
- [6] M. N. Daif, M. S. Tammam-El-Sayiad, Multiplicative generalized derivations which are additive, *East-West J. Math.*, **9(1)** (1997),33-37.
- [7] M. N. Daif, When is a multiplicative derivation additive? *Internat. J. Math. Math. Sci.*, **14(3)** (1991),615-618.
- [8] B. Dhara, S. Ali, On multiplicative (generalized)-derivations in prime and semiprime rings, *Aequationes Math.*, **86(1-2)** (2013),65-79.
- [9] B. Dhara, S. Kar, D. Das, A multiplicative (generalized)- (σ, σ) -derivation acting as (anti-) homomorphism in semiprime rings, *Palstine J. Math.*, **3(2)** (2014),240-246.
- [10] H. Goldman, P. Šemrl, Multiplicative derivations on $C(X)$, *Monatsh. Math.*, **121(3)** (1996),189-197.
- [11] B. Havala, Generalized derivations in rings, *Comm. Algebra*, **26(4)** (1998),1147-1166.
- [12] M. Hongan, A note on semiprime rings with derivations, *Internat. J. Math. Sci.*, **20** (1997),413-415.
- [13] S. Khan, On semiprime rings with multiplicative (generalized)-derivations, *Beitr Algebra Geom.*, DOI 10.1007/s13366-0150241-y (2015).

